7.1) Algebraic fractions



Worked example Your turn
Simplify: Simplify:
x? xt 8x”
x * 123
2x4
x? 6x% 3
x2 x2
Ox°
6x° 6x° 15x°
2x2 8x2 3
5x4%
6x° 6x°
12x2 18x8




Worked example Your turn
Simplify: Simplify:
x*+x—6 4 — x*
9 — x?2 x*>+2x —8

X+ 2
x+ 4




Worked example Your turn

Simplify: Simplify:
3x2% x 5y3 X 4x X 2y° 2a* x 7b3 x 4a? x 3b7
10xy 6a3b®
28a3b

2x3 x 3y° x x* x 5y?
6x2y3




Worked example Your turn
Simplify: Simplify:
5x + 10 x—3
X+ 2 4x — 12
1
4
x—7

5x — 35




Worked example Your turn
Simplify: Simplify:
x*+5x+6 x% —7x + 10
X+ 2 3x — 15
X — 2
3
4x — 12

x2—5x+6




Worked example Your turn
Simplify: Simplify:
X+ 3 (x — 5)2
(x + 3)3 (x — 5)°
1
(x —5)*
(x —4)°
(x — 4)2 (x +5)3
3x + 15
(x + 5)?
3
2x + 10

(x +5)7




Worked example Your turn
Simplify: Simplify:
3x° + 6x 4x3 + 12x
15x 16x?
x% + 3
4x
5y?% — 30y*

10y3




Worked example Your turn

Simplify: Simplify:
x>+ 6x+5 x> —6x+5
x?>+3x—10 x2+4x — 5
x—5
x+5
x?—7x—8

x%—1




Worked example Your turn
Simplify: Simplify:
2x% —5x —3 3x% — 5x — 2
3x2 —11x+ 6 2x% —T7x+6
3x + 1
2x — 3
3x2 —x — 10

x?—4




Worked example Your turn
Simplify: Simplify:
x2 -1 2x + 8
x+1 x? —16
2
x —4
x— 2
x?—4
x4 —9

2x — 6




Worked example

Your turn

Simplify:
x+2 x-—3
X
x—3 x—2
2x+3 2x—8
X

x—4 2x+1

Simplify:
3x —4 5x+4+10

X
X+ 2 3x +4
5(3x — 4)
3x +4




Worked example

Your turn

Simplify:
x+2.x—2
x—3 x-—3

2x+3.2x+1
x—4 2x—8

Simplify:
3x—4 3x+4

x+2  S5x+ 10
5(3x — 4)
3x + 4




Worked example

Your turn

Simplify:
(x+2)B3x—4) (7x+6)(x—-5)

x—5)6x+7)  (4x —3)(x + 2)

(x+7)(6x—5) ((x+4)(Bx+2)

x—)Bx+2) . (6x+5)(7x)

Simplify:
(x+502x—-7) (b6x+1)(x—4)
G—DBx+1)  2x—9(x+3)
(x+5)2x—-7)(6x+1)
Bx+1)2x —9)(x + 3)




Worked example

Your turn

Simplify:
3x* —10x —8 x*—3x—4
6x2 +37x —35  x2-—49

Simplify:
2x* —=7x—15 2x*+x—3
3x2+10x -8 x2—16
(x—5)(x—4)
(Bx—2)(x—1)




Worked example Your turn

Simplify: Simplify:
2x3 — 5x?% — 3x 3x3 — x% — 10x
2x — 6 4x — 8
x(3x +5)
4




Worked example Your turn
Simplify: Simplify:
2x3 + 5x% — 3x 3x3 — x% — 10x
4x% —1 9x?% — 25
x(x —2)

3x — 5



Worked example

Your turn

Write as a single fraction:
5

3+
2x — 1

5x + 4

Write as a single fraction:

. 3
X+ 2
5x + 7

X+ 2




Worked example

Your turn

Write as a single fraction:

3—(x—4)~+

x% —

16

xX—5

Write as a single simplified
fraction:
x% —4

x+ 3

5—(x—2)+

4x — 13
X — 2




Worked example Your turn

Write in the form 1 + —: Write in the form 1 + —:
X+b X+b

x + 3 x—5

x—5 X+ 2

7

1 —
X+ 2
X — 2

x+7




Worked example Your turn
Simplify: Simplify:
3 5
X + 2 3x + 3
5 2
1+ P 7+ 3x
9x + 5
21x + 2
3
% 2
5
1= %




